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4 Fe (s) + 30, (g) > 2Fe,0; (s) AH = -1625 kJ

NH.NO; (s) = NH", (aq) + NO7; (aq) AH = 27 kJ

CcH120¢ (s) + 605(g) —> 6CO, (g) + 6H,O (1) AH=-2808 kJ
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CeH120¢ (s) + 60,(g) —> 6CO; (9) + 6H,0 ()

AHcomb = - 2808 kJ




C6H1206 (s) + 602(9) —l 6002 (g) + 6H20 H + 2808 KJ

CHa(g) + 202 (g) —0nowp CO2(g) + 2H20 () + 891 KJ

CsH1s(g) + 25 O2(g) —p 8CO2(g) + 9H20 () + 5471 KJ
2

H2 @)+ 1 02 (g9 —> H20 () + 286 KJ
2
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LHzO(l) — H:0( AHvap = 40.7 kJ J S

\ HzO(s) — H.Oy) AHws = 6.01 kd J S
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[HZO(Q) —_— HZO(I) AHcond = - 40.7 ksﬂ
LHZO(I) — H.O AHsoiid = - 6.01 @
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LHan) — H:0O( AHvap = 40.7 kJ J

[HZO(Q)_> HzO(I) AHcond = - 40.7 k‘ﬂ
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m=257g Ol coll
AHfus = 3.22 KJ/mol

25.7

32 = 0.80 mol
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0.8 mol x 3.22 KJ/mol
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=2.576 KJ
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(12X1)+(1X4)+(16X1) = 32 g/mol
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m=275¢g
AH°vap = 23.3 KJ/mol

=16.2 mol
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AHcond = - AHvap
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16.2 mol x -23.3 KJ/mol “ouJgodl odisJi = Odg.oll sac

=.377.46 KJ (NH3 ) Wigoill augodl alisJl
(14X1)+(1X3)= 17 g/mol




